

DMC No. 000001
Roll No. 23258005
Regn. No. 23-DEO-405

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : MOHAMMAD GUL QAYOUMI
Father's Name : 0
Mother's Name : 0
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	41 19	40AG	100	B+	7	04.0	28.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	57 27	40AG	100	A+	9	04.0	36.0
3	MAMC-403 CYBER JOURNALISM	60 27	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	63 26	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	61 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0403		0500			20.0	180.0
	GRAND TOTAL	0403		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000002
Roll No. 23258007
Regn. No. 23-DEO-407

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : MOHAMMAD SHAKIR EBRAHIMI
Father's Name : 0
Mother's Name : 0
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	15 18 F	40AG	100	F	0	04.0	0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	32 20	40AG	100	B	6	04.0	24.0
3	MAMC-403 CYBER JOURNALISM	42 22	40AG	100	B+	7	04.0	28.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	48 26	40AG	100	A	8	04.0	32.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	46 19	40AG	100	A	8	04.0	32.0
	TOTAL	***		0500			20.0	116.0
							20.0	116.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-401

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000003
Roll No. 23258010
Regn. No. 23-DEO-410

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : ZIAUDIN DURANI
Father's Name : QUDERDIN
Mother's Name : BABO GUL
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	25 26	40AG	100	B	6	04.0	24.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	31 24	40AG	100	B+	7	04.0	28.0
3	MAMC-403 CYBER JOURNALISM	41 24	40AG	100	A	8	04.0	32.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	41 26	40AG	100	A	8	04.0	32.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	39 25	40AG	100	B+	7	04.0	28.0
	TOTAL	0302		0500			20.0	144.0
	GRAND TOTAL	0302		0500			20.0	144.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.20

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000004
Roll No. 23258014
Regn. No. 23-DEO-414

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : TOWA CHIRWA
Father's Name : CHIRWA
Mother's Name : LEMUSIS
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	00 23 F	40AG	100	F	0	04.0	0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	45 24	40AG	100	A	8	04.0	32.0
3	MAMC-403 CYBER JOURNALISM	00 29 F	40AG	100	F	0	04.0	0
4	MAMC-404 DEVELOPMENT COMMUNICATION	55 27	40AG	100	A+	9	04.0	36.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	55 23	40AG	100	A+	9	04.0	36.0
	TOTAL	***		0500			20.0	104.0
							20.0	104.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-401 MAMC-403

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000005
Roll No. 23258016
Regn. No. 23-DEO-416

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : FATIMA ALKASSIM SUFYAN
Father's Name : ALKASSIM SUFYAN
Mother's Name : KHADIJA IBRAHIM ALKASSIM
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	43 28	40AG	100	A	8	04.0	32.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	54 29	40AG	100	A+	9	04.0	36.0
3	MAMC-403 CYBER JOURNALISM	55 28	40AG	100	A+	9	04.0	36.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	64 29	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	60 29	40AG	100	O	10	04.0	40.0
	TOTAL	0419		0500			20.0	184.0
	GRAND TOTAL	0419		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000006
Roll No. 23258018
Regn. No. 23-DEO-418

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : GRESHAM NGWIRA
Father's Name : FANWEL NGWIRA
Mother's Name : FYNESS NGWIRA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	42 23	40AG	100	A	8	04.0	32.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	50 26	40AG	100	A+	9	04.0	36.0
3	MAMC-403 CYBER JOURNALISM	58 29	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	64 29	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	57 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0404		0500			20.0	184.0
	GRAND TOTAL	0404		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000007
Roll No. 23258019
Regn. No. 23-DEO-419

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : ZAINAB QUAREEN CHISENGA
Father's Name : 0
Mother's Name : 0
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	44 27	40AG	100	A	8	04.0	32.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	55 27	40AG	100	A+	9	04.0	36.0
3	MAMC-403 CYBER JOURNALISM	50 30	40AG	100	A+	9	04.0	36.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	60 29	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	54 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0404		0500			20.0	180.0
	GRAND TOTAL	0404		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000008
Roll No. 23258020
Regn. No. 23-DEO-420

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : KULDEEP PUNDIR
Father's Name : MANPAL SINGH
Mother's Name : SUMAN LATA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	43 18	40AG	100	B+	7	04.0	28.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	45 19	40AG	100	B+	7	04.0	28.0
3	MAMC-403 CYBER JOURNALISM	48 21	40AG	100	A	8	04.0	32.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	47 20	40AG	100	A	8	04.0	32.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	42 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0321		0500			20.0	148.0
	GRAND TOTAL	0321		0500			20.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.40

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000009
Roll No. 23258024
Regn. No. 23-DEO-424

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : MANDEEP KAUR
Father's Name : BALDEV SINGH
Mother's Name : SARABJEET KAUR
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	AB 15 F	40AG	100	F	0	04.0	0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	49 15	40AG	100	B+	7	04.0	28.0
3	MAMC-403 CYBER JOURNALISM	61 14	40AG	100	A+	9	04.0	36.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	67 15	40AG	100	A+	9	04.0	36.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	63 29	40AG	100	O	10	04.0	40.0
	TOTAL	***		0500			20.0	140.0
							20.0	140.0

RESULT : RE - TILL JUN- 2027 IN : MAMC-401

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000010
Roll No. 23258025
Regn. No. 23-DEO-425

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : AAKANKSHA
Father's Name : RAVI KANT
Mother's Name : PREETI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	46 29	40AG	100	A+	9	04.0	36.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	60 30	40AG	100	O	10	04.0	40.0
3	MAMC-403 CYBER JOURNALISM	60 29	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	66 29	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	63 29	40AG	100	O	10	04.0	40.0
	TOTAL	0441		0500			20.0	196.0
	GRAND TOTAL	0441		0500			20.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.80

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000011
Roll No. 23258026
Regn. No. 23-DEO-426

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : SANDEEP NEHRA
Father's Name : MANGE RAM
Mother's Name : RAJ BALA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	46 30	40AG	100	A+	9	04.0	36.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	52 28	40AG	100	A+	9	04.0	36.0
3	MAMC-403 CYBER JOURNALISM	62 30	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	65 30	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	61 29	40AG	100	O	10	04.0	40.0
	TOTAL	0433		0500			20.0	192.0
	GRAND TOTAL	0433		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000012
Roll No. 23258027
Regn. No. 23-DEO-427

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : ASHISH MISHRA
Father's Name : GAJENDRA KUMAR MISHRA
Mother's Name : LATA MISHRA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	26 19	40AG	100	C	5	04.0	20.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	34 22	40AG	100	B+	7	04.0	28.0
3	MAMC-403 CYBER JOURNALISM	29 28	40AG	100	B+	7	04.0	28.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	32 25	40AG	100	B+	7	04.0	28.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	35 19	40AG	100	B	6	04.0	24.0
	TOTAL	0269		0500			20.0	128.0
	GRAND TOTAL	0269		0500			20.0	128.0

RESULT : PASSED AND HAS OBTAINED : SGPA 6.40

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000013
Roll No. 23258028
Regn. No. 23-DEO-428

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : JATINDER SINGH RAWAT
Father's Name : RISHIPAL SINGH
Mother's Name : USHA RANI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	44 29	40AG	100	A	8	04.0	32.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	65 28	40AG	100	O	10	04.0	40.0
3	MAMC-403 CYBER JOURNALISM	54 30	40AG	100	A+	9	04.0	36.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	63 29	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	66 29	40AG	100	O	10	04.0	40.0
	TOTAL	0437		0500			20.0	188.0
	GRAND TOTAL	0437		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000014
Roll No. 23258030
Regn. No. 23-DEO-430

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : HRISHITA KAHOL
Father's Name : GAURAV KAHOL
Mother's Name : AARTI KAHOL
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	46 29	40AG	100	A+	9	04.0	36.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	58 29	40AG	100	O	10	04.0	40.0
3	MAMC-403 CYBER JOURNALISM	63 28	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	65 29	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	64 25	40AG	100	O	10	04.0	40.0
	TOTAL	0436		0500			20.0	196.0
	GRAND TOTAL	0436		0500			20.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.80

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____



CONTROLLER OF EXAMINATIONS

DMC No. 000015
Roll No. 23258031
Regn. No. 23-DEO-431

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : SIMRAN SHARMA
Father's Name : SURESH KUMAR SHARMA
Mother's Name : ALKA SHARMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	44 19	40AG	100	B+	7	04.0	28.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	54 23	40AG	100	A+	9	04.0	36.0
3	MAMC-403 CYBER JOURNALISM	56 24	40AG	100	A+	9	04.0	36.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	45 19	40AG	100	B+	7	04.0	28.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	57 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0365		0500			20.0	164.0
	GRAND TOTAL	0365		0500			20.0	164.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.20

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000016
Roll No. 23258033
Regn. No. 23-DEO-433

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : HARDEEP SINGH
Father's Name : JAGJEET SINGH
Mother's Name : BEANT KAUR
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	46 29	40AG	100	A+	9	04.0	36.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	60 29	40AG	100	O	10	04.0	40.0
3	MAMC-403 CYBER JOURNALISM	65 30	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	65 30	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	63 29	40AG	100	O	10	04.0	40.0
	TOTAL	0446		0500			20.0	196.0
	GRAND TOTAL	0446		0500			20.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.80

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000017
Roll No. 23258034
Regn. No. 23-DEO-434

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : ABHINAV GARG
Father's Name : MUNISH KUMAR GARG
Mother's Name : ANJANA GARG
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	46 30	40AG	100	A+	9	04.0	36.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	54 29	40AG	100	A+	9	04.0	36.0
3	MAMC-403 CYBER JOURNALISM	60 30	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	65 30	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	63 30	40AG	100	O	10	04.0	40.0
	TOTAL	0437		0500			20.0	192.0
	GRAND TOTAL	0437		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000018
Roll No. 23258035
Regn. No. 23-DEO-435

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : MOHIT
Father's Name : NARESH KUMAR SHARMA
Mother's Name : ANITA SHARMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	46 28	40AG	100	A	8	04.0	32.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	57 28	40AG	100	O	10	04.0	40.0
3	MAMC-403 CYBER JOURNALISM	58 30	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	62 29	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	60 29	40AG	100	O	10	04.0	40.0
	TOTAL	0427		0500			20.0	192.0
	GRAND TOTAL	0427		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000019
Roll No. 23258037
Regn. No. 23-DEO-437

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : ISHANT SHARMA
Father's Name : ROOP LAL SHARMA
Mother's Name : VEENA SHARMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	46 30	40AG	100	A+	9	04.0	36.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	61 28	40AG	100	O	10	04.0	40.0
3	MAMC-403 CYBER JOURNALISM	63 30	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	63 30	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	63 29	40AG	100	O	10	04.0	40.0
	TOTAL	0443		0500			20.0	196.0
	GRAND TOTAL	0443		0500			20.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.80

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000020
Roll No. 23258038
Regn. No. 23-DEO-438

RESULT-cum-DETAILED MARKS CARD
MASTER OF ART SEMESTER-04 EXAM : JUN- 2025
(MASS COMMUNICATION-CBCS-CDOE)

Name : VINOD KUMAR
Father's Name : HEM RAJ MEHRA
Mother's Name : SAROJ DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-401 PRINT MEDIA PRODUCTION	45 24	40AG	100	A	8	04.0	32.0
2	MAMC-402 ELECTRONIC MEDIA PRODUCTION	53 28	40AG	100	A+	9	04.0	36.0
3	MAMC-403 CYBER JOURNALISM	58 28	40AG	100	O	10	04.0	40.0
4	MAMC-404 DEVELOPMENT COMMUNICATION	65 27	40AG	100	O	10	04.0	40.0
5	MAMC-405 FILM AND ENTERTAINMENT INDUSTRY	60 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0411		0500			20.0	184.0
	GRAND TOTAL	0411		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS